Answers:

Task 1:
1/10      2/10   3/ 10 etc up to 10/10   then  6/10   4/10   5/10   4/ 10   5/10  6/10

1/10  0.4  5/10  0.6  0.1  7/10  0.3  0.8  0.5  9/10  0.7  0.9  3/10  0.2  4/10  10/10



Task 2 

50%  60%  90 %  25%  35%  75%
65%  95%  3%  3%  6%  0.5%
0.17  0.23  0.88  0.63  0.09  0.08  
0.001 0.125  0.158  0.112  0.002  0.021



Task 4 (task 3 are on worksheet)

0.5     0.73  0.04  1%
0.25  0.75  0.6
8/10 (=4/5)                  35/100 (= 7/20)
[bookmark: _GoBack]30%          80%          55%         30%
3/10                45/100 (=9/20)        
12     18/30 (=3/5)    40%


